Ef-TEBRRAREE-ER AF0546 A8 AR
e = EREE BRUMNARZRE
5 T 35 X BERE — T
E=F 1) — R X HER
TR EZFEOME | SRBX
X7 (BKE) REMEEHEE |14
(EWKE) |TIERSIEHEE 117
I TEIEEE SEA)FRE=181, INEIIFE=9.7, BEEJIFE=8.7
#ok EE = =
BEMIGEKRFR |_
IZkBEHE
3 T ; fEE 20m/s
=5 A FHNE fi: 25m/s
= - > fE 20m/s EEHES
RESE T RE =y om/s BEES
= = () %2 EFiﬂl 1ZE§FEﬁB§Z'EE§o);¥325cm
= RROFS D 128 R S O = 400m
KR E ) 6.0m
= 80 B 1.3m
X7 REMEEHEE |10
TIEMEEHELE |94
I TEIEEE SEA)RE=144, NEINFE=77, BELEFE=6.9
oK -2 A= (8, 11.5)
. fEAIAKTE |
IZkBEHE
- . o 12m/s*?
A FHRE B 15m/s
. T4 ] Bt 12m/s*? EFHES
BS FHRE B T5m/s BEHS
= [ i 1205 % E D FES15cm
AS REORS D 1265 E O FE250m
KR e 3.0m
sen PP B 09m
- £ EEFICKYBENTEINGEE
ME
o a B b 100m
p-—+ 1RI2 B 500m
BrIR B/INEE40% TETE65%
DEEDRERE0cmU LHYBRE DFEE40ecmil £
BER QWBLDOBEEDFEE60cmEl EHYRDULFT hb
- 1 BESEASCLIE"?
2 HEYDER
3 BIESE-4CUT*®
= 10831HETHREFE 481BLUEDIKTE ZESEICUT
&K
. 128 E DES: E#n15emil L IL#125cmEl b
1= £B:-2C~2C
SERRVE R KR TE IR 1 B%ﬁﬁl_ﬁ% [90mm

NEREREEYN RERSIER OHEASHhEICLSREEERLTILET.
2T AS R) DEBIEIX15m/sE BRET B,
P REBEEIMAREEDIE.



